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No coverage: No instruction in the line has been

executed

Full coverage: All instructions in the line have been

executed

Partial coverage: Only a part of the instruction in the

line have been executed
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689, supplierdrderCountIpt = supplierOrderConditionService.addbDatalevellimit(supplierOrderCountipt);
G0, @ if [supgllurﬂrdarcnunt Ipt == null) {
691. § return page;
G032 . ¥
£593. fAESREURERE, AT XRHEA BEIR RIS TR
Eo4. ff boolean isBDGroup = groupService.ilsBDGroup(ApplicationUsarContext.getUser()j.getId());
E55, supplierfrderCountIpt.setUserIdigetSupplierTId());
= setSupplierCrderCountIptietall (supplierOrderCountIpt);
£97 int totalCount;
gag. ¢ if (isBDGroup) A
B89, ff setQueryConditiondBD{supplierCrderCountIpt);
TO0. Ff totalCount = deliveryOrderItemSlaveDao.countDeliveryPlanOrderdBD(sopplisrOrderCountIpt]
01. i£f } else {
%ﬂﬂ&ﬁﬂq o2, totalCount = deliveryOrderItemSlaveDas.countDeliveryPlanOrder (supplierOrderCoontIpt) ;
T03. 1
_'I_:.-| i
705. page.setTotalRows (totalCountj;
TO&. page.setCurfage|supplierfOrderCountIpt. getPagination| | .getCurfPage| )}
TO07. @ if{totalCount == 0){
TO8. return new Pagination=>():
709. 3
710, List<DeliveryOorderItem> list:
711. @/ if (isBDGroup) {
i B ligt = deliveryOrderItemSlaveDao, findbeliveryPlanfrderByPgdBD(supplierOrderCountIpt)
Ti3. W b elae |
714. ligt = deliveryOrderItemSlaveDac.findbeliveryPlanOrderByPg{supplierDrderCountIpt];
i - TS }
flh.
17, @ if{Col 1Bctlunutlla.1aﬂmptjrl_llat] 11
718. return page;
719, ¥
720, List<DeliveryOrderIltenVor listVo = getDeliveryOrderItemVos(list);
Tdl:
722, page. setData({listVo);
T

23. }ﬂhﬂh (Exception e){
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Mutation testing is a technique for systematically mutating source code in order to
validate test suites. It makes small changes to a program’s source code and then runs a
SR M test suite; if the test suite ever succeeds on mutated code then a flag is raised.

Unit testing ensures your production code is relevant. But what does ensure your
testing code is relevant? Come discover mutation testing and make sure your never
forget another assert again. In the realm of testing, the code coverage metrics is the
most often talked about. A line (or a branch) is considered to have been covered if
during test execution this line has been run. However, it doesn't mean that the test has
been useful or even that an assert has been coded. Mutation testing creates mutants
from code - a deviation from the written code, and test them also. If a test still passes
on a mutant, then the test is not relevant
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org.dstadler jzit.api

Mumber of Classes Line Covernge MMuiation Coverage
18 o9 | 245/310 TN 1% (It =

Breakdown by Class

MName Line Coverage Mutatiun Coverage
25 S i =P CheckMergeStatusOQfCommit. java BE3% 24/29 [ | Oo% [ DS 3
RAS A GetCommitMessage. java 1% 10/11 0% | SR TR
GelRefFromName . java B39 5/6G i 0% | o/l '
GelRevCommitFromObjectld. java D35k 14/15 I 0% | /s |
GetRevTrecFromObjcctld. java 2% 12/13 | 0% | O/ I
ListFilesOfCommitAndlag,. java 0% 0/38 i 0% | 0/14 :
PrintRemotes.java BO% B/O | 0% | 0/2 ’
ReadBlobContents java 04 % 17/18 || 0% | 0/7 |
ReadFileFromCommit. java S0%% 19/21 H 175 | 1/6 |
ReadTagFromName java o4% 15/16 7 0% | /s |
ReadUserConfig.java TOw 11/14 i 0% | o/6 |
ResolveRerl java Q2 F 11/12 | 0% | 0/4 |
ShowBranchTrackingStatus, java B3% 19/23 | 0% | /s |
Walk AllCommits. java O3 % 14/15 i 0% | 07 ;
WalkFromToRov. java 95% 20/21 | Q% | o0 |
WalkRev.java 4% 16/17 i 0% | 0/8 |
WalkTreeMNMonRecursive. java O 15/16 | 0% | D'i"r# E— |
WalkTreeRecursive, java O T 15/16 ] 2% B O/ - |
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571 if (ltreeWalk.next()) {
58 throw new IllegalStateException{"Did not find expected file 'README.md'");
59 }
(1%
61 ObjectId objectld = treeWalk.getObjectId(@);
62 ObjectLoader loader = repository.open{objectlId);
63
?éé%ylj\lﬂﬁ‘ 64 // and then one can the loader to read the file
651 loader.copyTo(System.out) ;
66 }
&7
681 reviWalk.dispose();
69 }
7@ }
71 }
72}
Mutations
58 1. removed call to java/io/PrintStream::println = SURVIVED
55 1. removed call to org/eclipse/jgit/treewalk/TreeWalk::setRecursive -+ SURVIVED
56 1. removed call to org/eclipse/jgit/treewalk/TreeWalk::setFilter » SURVIVED
57 1. negated conditional » KILLED
65 1. removed call to org/eclipse/jgit/lib/Objectloader::copyTo = SURVIVED
68 1. removed call to org/feclipse/jgit/revwalk/Revialk::dispose + SURVIVED
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Surviving means changing the source code did not change the test result

It ‘s bad!

SR AR Killed means changing the source code changed the test result

It’s good
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[ Package Class _ Method |Method Cuwerag&|

public List<StockQueryForFPFageRepDtor guerysStockInfolist|StockQueryForFageReqDto stoocPageReqDto)

73. F FEH AR S
| Map=String, CObhj=ct> params = new HashMap=String., Obhjimot>(}]
o if (null == ptocPageReqlto.getCityIld() &k CommonConstant.l.egualsistocFageReghto.getCityTdlii) |
G m,m{‘mw: gueryStockIinfolist IR ESMRMLid, deos {}", nbn-:?_hq_pﬂpﬁ;ﬁt:}r
ﬂMtﬁ**%% 77. throw pew MiniException{ErrorCode.No.CITY ID,getBrrorCode|). ErrorCode.No CITY_ID.getErrorMsg()):
N % f ¥
(5=} B 3 if (Stringltils.isfotBlank|stocPagelegqito.gecEnterprisefamey{ 1) {

params. put{ “antorpripeNamo”,; stocPFageRogDto.getEnterprisolamsy | )

¥
L] idf {Btrcingltile.isNotBlank|stocPageleghto. getOutletetiamai 1] {
13, pacamns.put | “name=", stoocPageRegDto.getCutletsRame{ )]
5 i }

| params. puti "etatua” 3‘L‘-E|."IJ$-.-'|:|H‘_SHEL.E.QE‘EUE.1HBI | B
] § params.put| “ocityld®, stocPageReqDto.getCityIdi))r

1T, e TS e I I
1 long ocount = shelfGroupInfoMapper.gueryConntByPage [ paramns )«
25, List<ShalfCroupDetall> shelfGroupbetaillisr = sheliGroupIinfoMapper.gueryStockList(params )
W, Lige<cRrackiua ey PFarfagalaplita= pgiaokDussyForPagelepltog = Ligts . newArrayLiptithCapacsity (gl FGronplataillLiat . 8
1. A/ BLiat
o Ll if (1Collectionltila. isEmpeyiphelfGroupDetaillLiat) ) {
stookfueryForPagekepbtos = shelfGroupDetaillist.stream| | .map|shelfGroupbetail -> |
24 EtockueryForFagoRepDto stockueryForFageRepDto = aallf

15, J FEERE A ST B R SR e b S N S LR
] Map<String, Object> shelfParam = new HashMap<String, Ohiject>[}:
] ahalfParam. put | “graocpld”;, ahalfCroupDetall . gatId( )} ;
! ghelfPacam.put|"sholfftatus”, Status.ON SHELT.getValue( )i
A= shelfParam.put | “commodityEtatus”, Btatus.0M SHELF.getWValuas() )}
10, ShelfhssemnbleInic shellAssemblalInfic = shelfnfoMapper . getStockioldInfol{sheliFaram) ;
Lo L Lf (aull == ghelfassenblelnfo.getShelfGroupidl) || sull == ghelfapeemblelnfo.getCommodityIdiiy {
La return stockfueryrForPageRepDtor
! ]
LU, stockfuaryForfagoRapDio = BaanProparbyClonalii]l  mapd StoskQuaryPorPageiepDea. elase, ahal fGrounDatall |
Los. FrR RNl
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f0verride
publie ResponseDT0 changeStoreVacation(Long storeld, String name) |

- tIT '[

AR 55 s String today = LocalDate.now| ). fornat DateTineFornatter IS0 LOCAL DATE);
StoreDailyExpense storeDailyExpense = storeDailyExpenseMapper.getDailyExpense|storeld,today);
28, @ if (storeDailyExpense==null){

| i.' . storeMapper .changeStoreVacationByldistoreld, name);
: return ResponseDT0,getSuccessResponse|Boolean. TRUE) ;
lelse {
logger. error| "id/) " +storeld+ "33 tReturnCode. STORE_CHANGE VACATION FAIL T0DAY BOWER REPORT.getMsq|));
return ResponsedT0,getErrorResponse|ReturnCode. STORE CRANGE VACATION PATL TODAY POWER REPORT,Boolean.FALSE):
}
} catch (Exception e) 1{
Logger . error ("B TEREREAR, FE: ' e);
return ResponseDI0.qetErrorResponse |ReturnCode,5YS EXCEPTION, Boolean.FALSE);
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THANKS !



